Mdl = O &0 AF 2 EH Al M
20113 20lah LESIH L, IIEISE3H H2HALA ~ H2U A M
S HEOAA
M A A% 2 (HSUHLALM)(SSEMLE /TS - 21ES)

Crol: AgE 2 (9 &
A BB O(B) - NEAY - BAS Of o e Hl R =2
22N 1,596,278 1,351,413 244,865
S0 A 2A(NHSRUHAMM)(ZZ2E LA /TH 1,247,747 987,635 260,112

LHEETH - Q1)
HdU=H ¢ ALUCHMHZH Mets)
A8 22 879,020 634,459 244,561
ANXE 1 SHAY BIAIZE
golE s SHEX : 4852=%
29 HAL BSOS 350,000 0 350,000
401 AlEHIZ 2] 350,000 0 350,000
01 Al&H| 344,000 0 344,000
BHO{ 1192t &M HIE cl2 2 344,000
- 2 AHHI 326,000
- &bl 18,000
02 Zeldl 4,000 0 4,000
BHOI 1190t &M 2|22 Y 4,000
03 AIE=20Hl 2,000 0 2,000
BHO{ 1190t M MIE 2122 S 2,000
AUEH 22 273,013 295,838 £22,825
201 LBt H| 177,063 249,798 AT2,735
02 2223l 177,063 249,798 AT2,735
29X BEI 5,671
L2HXE KXY 146,912
22 EH AL 9,400
SHA & 2 &I 600,000*4IH 2 2,400
S4&IEH| 400,000%5H 4~ 2,000
A& 500,000+ 17H CH 500
= gl 500, 000*4JH CH 2,000
JIEFE I 500,000+5IH £~ 2,500
ASHA AYE M I 22)Y| 5,000%3154 1,575
SHAHOIE &I 7Y 30, 000%463 7 *5% 695
SISEI I AEH(LHLAE) BAE
38,500%60H 2,310
Y S A 10,500
SYAX 3,500, 000*3CH 10,500
206 M=l 27,950 42,340 A 14,390
01 =4l 27,950 42,340 A 14,390
2=l S=SMXE A4S 6,000
12 #2015 2,000 Ol&f
2,000,000*1JHCH 2,000
o2k 22015 1,000 0l &
1,500,000%27H CH 3,000
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SA RS HAYA
M UHSAAL (HSULLAH)OIEH/IIE)

&t JI=3l (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2

Jl=&Hl 291,751 307,701 A 15,950

Jle=3| 291,751 307,701 A 15,950

201 Let2d| 153,991 154,051 A60

01 Al222ll 86,640 86,700 AB0
SEES 50,340
o x| 11,600
=X 38,740
28R+ S| 11,200
FA2YE JI2+=EH| 25,100

02 =234l 67,351 67,351 0
3332 (HJg S 63) 38,849
sS23 24,500
LBtNE = 41,670%143] & *12& 7,001
HEINMZ 31,700%463] &+ 12 17,499
CATV AtEZ 18,700%43| &+ 123 898
HE 3,104
2eteE 250%8,0000H 2,000
SIIR= 1,840%60004 1,104

202 O4Hl 20,000 20,000 0

01 SUWHYI 20,000 20,000 0
2U=E odl 20,000

203 HRF&Hl 50,960 69,350 A 18,390

01 J|22SHFRF=&HI 10,900 14,800 23,900
2EAME 4,400,000+1 4,400
TOHM A, RS 1,300,000%5H 6,500

02 FRJAINMAHRFAHI 6,580 8,290 A1,710
EnS= (40,000 100 )+(30,000& «86H ) 6,580

04 RAN2IHRFAHI 33,480 46,260 212,780
En= = S 250,000 12& 3,000
oot &ar, THEHOHE 350,000%2tx 12 8,400
PS1192rM HIE  (350,000+(5,000%18% ) ) »12& 5,280
SS119etN M S 350,000%40H &+ 12 16,800

405 XtobE SHI 66,800 64,300 2,500

01 XL SSFSHI 66,800 64,300 2,500
=25 12,900
oA 12,900
-HICIREZ 2 AEH 4,200,000+ 1CH 4,200
-OXNEd DM 1,700,000+ 1CH 1,700
S A 5,500,000+ 1CH 5,500
-LES 1,500,000+ 1CH 1,500
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1,000, 000+2CH

1,300, 000+4CH
1,300, 000%17CH
1,000, 000+6CH
350, 000+2CH
550,000+ 1CH
350, 000+6CH
450,000+4CH
500,000+ 1CH

200,000+33H
190,000+ 154
150,000+ 102+
200,000 104

40,950
2,000
2,000

38,950
5,200

22,100
6,000

700
550
2,100
1,800
500

12,950

12,950
6,600
2,850
1,500
2,000




